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Pulitzer Prize is given for distinguished
achievements in which of the following
sectors?

(A) Sports

(B) Medicine

(C)Journalism

(D) Photography

Who among the following is the current (2015)
captain of Indian Women's International
Cricket team?

(A) Mithali Raj

(B) Anjum Chopra

(C)Karuna Jain

(D)Jhulan Goswami

‘Around the World in Eighty days’, an

adventurous book was written by which of the
following authors?

(A) Chaucer

(B) Cervantes

(C)Jules Verne

(D)H. G. Wells

Grammy Awards are presented for
contribution in which of the following fields?
(A) Sports

(B) Literature

(C)Music

(D) Medicine

i

Freffea § & B & § sfafda swafmat 5
fore gfereste qrehre T ST 82

(Aya=

(B) sirwrfer
(C)w=rshTiaT
(D)W

Ww@mm@ywmﬁm
(2015) Fre Frwforfeg & & 9 82

(A) forerrett T
(B) ST =TT
(C)=&orT S
(D) et

‘FLVE T A8 34 Ug! 39, ATH TF qrgaqot
e e # & e S g ot € o2

(A) =T
(B)ywIF=rT
(C) = a

(D)H. G. ¥=w

Ieft srared et # & fre 8 3 I ¥
forg srare v s €2

(A)&=

(B)wTfRem

(C)=fa

(D) sfrarfer
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Who among the following was the director of
the film 'Sholay', one of the successful
cinemas of Indian film Industry?

(A) Manmohan Desai

(B) Ramesh Sippy

(C)B. R. Chopra

(D) Shyam Benegal

Name the plant used to treat blood pressure
and found only in '”dﬁz

(A)Jamun

(B) Kachnar

(C)Babool

(D) Sarpagandha

Jeev Milkha Singh represents which of the
following sports across the globe?

{A) Hockey

(B) Golf

(C)Athletics

(D) Tennis

Who among the following was the lyricist of
Oscar winning song 'Jai Ho' from Slumdog
Millionaire?

(A) Gulzar

(B) Javed Aktar

(C)Rama Rajyam

(D)Majrooh Sultanpuri

5.

6.

e

8.

T T TOheq SR % aher fR=Tel § & Ue ‘i
fibew & Ao PefRRE d T s 2

(A) e FETE

(B) THer faeft

(C)B. R. FU=T

(D) &= =TT

I G T AIH TATEY ST THATT % STATE H T
H aaT & ST Aae 9T § 9T Srar 82

(A) ST

(B) F

(C) 7=

(D) =fareT

st e Rig o g & et & & &
G FT AT Fd 27

(A) gt

(B)TieH

(C)uzraterg

(D)zfRer

et et frew ¥ siter fasar T s
B & Mawr Feferifea & & w2 82

(A) =TT
(B) SiTaE &<
(C)Tm™ T w

(D)wrsrEE FearTgdt

Page 3 of 32



70D

x

9.

10.

10

12

Four Indian Scientists of Aligarh Muslim

University received the William Harvey Award

2015 for their work in the field of

(A) Nutrition

(B) Infectious Diseases

(C)Haematology for rare Haemoglobin C
Diseases

(D) Gastro-Intestinal Diseases

‘Wings of Fire', is the autobiography of which

of the following presidents of India?

(A) Pratibha Patil

(B) Shankar Dayal Sharma

(C)Dr. A. P. J. Abdul Kalam

(D)Neelam Sanjeeva Reddy

‘Alam Ara', the first Indian sound film was

directed by which of the following directors?

(A) Dadasaheb Phalke

(B) Ardeshir Irani

(C)Bhogilal Dave

(D)Mehboob Khan

Which of the following is the first colour film

produced in India?

(A) Kisan Kanya

(B) Gopal Krishna

(C)Devdas

(D) Shakuntala

9.

10.

1

12.

srefivTe e FRERE =9 A St
&1 e & 7 I & fore Rferm g1 sare
2015 ST geT?

(A) dreroT

(B) HeTHS T

(C)getwr Srentae # T ¥ o =i
(D)Fegr-Eefeas Tt

‘v e I W F RuffRa d a v &
gt it AeHHAT 32

(A) st arfeer

(B) &f=¥ =TTl oTHT

(C)=T. A. P. J. 1559 FATH

(D)o wstram g

T AT arerae e, ‘srerm sy Ao
# 3 e ers g fAEfer € g o2

(A) ETETHTRE HTe

(B) smEfar Ty

(C)Arfierme =3

(D)#Ega @

swiea ¥ e ugelt @i fvew Refefem & &
i | of?

(A) T e

(B) Tt o

(C)Z=a=m™

(D) srg=
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14.

15.

16.

17

The annual international film festival is held in

Cannes every year. In which country is the city

Cannes located?

(A) ltaly

(B) Spain

(C)France

(D)Belgium

Which of the following books is written by

Rabindranath Tagore?¥® .

(A) A passage to India

(B) Freedom at Midnight

(C)Geetanjali

(D) Saraswati:- A tribute to Wisdom of India

Which among the following vaccines was

introduced recently in India?

(A)MMR

(B)DPT

(C)BCG

(D)Rotavac

Which of the following weather satellites was

successfully launched by SpaceX Falcon 9?

(A) Advanced Composition Explorer (ACE)

(B) Dragon Triana

(C)Ravine Rover

(D)Deep Space Climate Observatory
(DSCOVR)

Who among the following is the author of the

book 'Fall of Sparrow'?

(A) Indira Gandhi

(B) Salim Ali

(C)Amrita Pritam

(D)Mahatma Gandhi

13.

14.

15!

16.

17,

it saeigia fhew wera w0 § afaay
TS BT S 21 e a7 Reffaa § &
o 3or ® o 272

(A ze=ft

(B)==

(C)wia

(DEIGRE

et § & s Y ea e S g
fordt T 22

(A)w otz EfRa

(B)sfrew #1= fieATse

(C)fratsrett

(D)aTeaT:- U frege 7 fawew afw 2R

WA § 2Tl &1 | e A Fefi (Ee) ¥ T
# L 7?2

(A)TH T =T

(B)FT it &

(C)&T #fr sfr

(D)TreTa®

FrefafEa § & B 9o STUE 1 aFaarE®
TrEX w9 g1eT garfug (aivs) fram mam a1
(A) T=aTEE FFITTSTI TFTRT (ACE)

(B) §= femm

(C)3fa faw

(D) ¥ =g FATSHE Arera<t (DSCOVR)

“THTeT AT T T o o HH e o F B
T

(A) Efez et

(B) Frefie sreft

(C)zrga sfraw

(D) HETeAT TEY
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18.

19.

20.

21

Which of the following sports women broke the
the 3000 metre
World Athletics

national records in
steeplechase in
Championships in Beijing?
(A) Tintu Lukka

(B) Sudha Singh

(C)Lalita Babar

(D)Jaisha Orchatteri
Oscar awards are conferred annually by which

of the following organizations in United States
Of America?

(A) Twentieth Century Fox

(B) Metro-Goldwyn-Mayer

(C)Academy of Motion Pictures
(D)Research in Motion Pictures

P. V. Sindhu lost to which of the following
players at the finals of Denmark Open 20157
(A) Carolina Marin

(B)Wang Yihan

(C)Li Xuerui

(D) Tai Tzu Ying

6CO2 + 6H20 + light - CgH1206 + 60,
The above equation depicts

(A) Rusting

(B) Painting

(C)Burning

(D) Photosynthesis

18.

19.

20.

21

AT # g2 7o waafeam Ffegz=iag § 3000
ez it Everaw # Fwforfea § & B afger
et 7 Tty fotE diey ar?

(A) fé ar
(B) e féig
(C)=feraT aTae
(D)Sterr s=ig

HYH T Ay F AvfE w7 F sAten gars
FRrafofea # & R e gra fRu sm #2

(A) Zafeusr H9t wiw

(B) FEr-reefa- fax

(C) st sitw HrerT e
(D)= = wrer e

SHATE AT 2015 F HreAew & P. V., iy
Fafafem & & e Rerd d ae e
(A) FTrfemET Tife

(B)=iT frgr

(C)efr =g

(D)aE 3 R

6CO; + 6H20 + light > CsH1206 + 60,
I FHHOT FAT gertar §2

(A) §T =TT

(B) e g

(C)stera

(D) RSSO
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22.

23.

24.

25.

26.

The product of time period and frequency of a
wave is

(A) Less than 1

(B)Equal to 1

(C) Greater than 10

(D) Infinity

Which of the following statements is TRUE
about centipedes?

(A) Centipedes have 100 Iggs only

(B) Centipedes have varying number of legs
(C)Centipedes have 1000 legs only

(D) Centipedes have 10 legs only

In normal atmospheric pressure, water boils at
what temperature?

(A)45 °C

(B)80 °C

(C)100 °F

(D)100 °C

Frog is a/an

(A) Mammal

(B) Insect

(C) Amphibian

(D) Reptile

The process of conversion of water to water
vapour is called

(A) Sedimentation

(B) Evaporation

(C)Condensation

(D)Filtration

22;

23.

24,

25.

26.

@mﬁmw@aﬁraﬁ%wm

(A)1 & %7 grar &
(B)1 % e grar &
(C)10 & sifer grer 2
(D) grar &

sw%aﬁﬁ‘ﬁﬁﬁmﬁiﬁaﬁﬂmmw@g?

(A) T2 %F T 100 47 By &

(B) e ¥ 43t it et frer-frer 21t 2
(C) o7 F F=T 1000 &= By &
(D)1= % Faer 10 47 gy &

HTHTT ATAVEHAT Famea & a1+t ey arosrey g
IFear 87

(A)45 °C
(B)80 °C
(C)100 °F
(D)100 °C
#eF U

(A) &Y &
(B)Fz ¥
(OEEEE S
(D)=dge &

T F AT F TRy F1 T #1 F4r F7y
STaT 82

(A) &fizem
(B) zataver
(C)Fre=gerT
(D) freevers
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27.

28.

29,

30.

Ducks rub the oil from preen gland, near its
tail, all over its feathers. This helps it to remain
(A)Warm

(B) Colourful

(C)Heat proof

(D)Water proof

The pH scale ranges from
(A) 3-14
(B)0-14
(C)7-14
(D)5-14

Perspiration helps in cooling the body because 29.

the

(A) Water evaporates resulting in heat loss of
the body

(B) Water evaporates resulting in heat gain of
the body

(C)Water sublimes resulting in heat loss of the
body

(D)Water condenses resulting in heat loss of
the body

In rusting process, iron, water and oxygen

react to form:

(A) Oxygen

(B) Hydrated iron oxide

(C)Carbon dioxide

(D)Hydrogen

27.

28.

30.

x

mamﬁ%:%waﬁﬁsﬁwuﬁx%%vﬁ
mwwwvm?ﬁélagm%qmﬁ
HIE FTAT 82

(A) T w5 &

(B) Tfer g &

(C)am Teft 7z &

(D)5t Trefy oy &

PH e 37 357 = 82

(A)3-14

(B)0-14

(C)7-14

(D)5-14
wﬁmsﬁrﬁmmﬁmwgﬁ%

wwﬁmﬂ%@m%%ﬁﬁm
srﬁraﬁvﬁaa-cﬁé

(B)Wmam'ﬁw@méﬁﬂ%wﬁmwm
srﬁrﬁmﬁaaeﬁ%

(C)WWG&W@W%WW@W
sarﬁTﬁﬂﬁﬂz?ﬁ%

(D)‘Tﬁﬁaﬁméméﬁv%qﬁmwwwﬁt
Fr ff =t &

Wmmﬁ,m,wﬁaﬁtaﬁﬁﬂmsﬁﬁ
wmﬁ%ﬁqwﬁ%mﬁ?

(A) sitfargsTr

(ORESCa pro B Cies

(C)Frd7 sreattrTee

(D)zr=gee
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31.

32.

33.

34.

35.

The angle between the two refracting surfaces
of a total reflecting prism is

(A)90°

(B)45°

(C)e0°

(Dy30°

Which of the following frequencies of sound
CANNOT be heard by normal human beings?
(A)30 Hz

(B) 30,000 Hz

(C)300 Hz

(D)3,000 Hz

Amphibians can

(A) Live in both water and on land

(B) Live only on land

(C)Live only in water

(D)Always fly

The product of the reaction given below is
2NaCl + F2 -

(A) 2NaF + Cl,

(B) 2NaF + CI

(C)NaF + ClI

(D)2Na + Cl;

Why do frogs have sticky tongues?

(A) They can croak better

(B) They can jump easily

(C) They can catch the prey easily

(D) They can swim well

31.

32.

33.

34.

35.

TF O 97T T % &Y srordT wag ¥ e v
o7 FoheT grar 82

(A)90°
(B)45°
(C)60°
(D)30°

TF T A g1 Refefed § & afa ft $
i iRy 7L et S wwr?
(A)30 Hz

(B) 30,000 Hz
(C)300 Hz
(D)3,000 Hz

IATAT
(A) S = 7 T 9% @ g
(B)Faet qfH 9% g TF §
(C)Faa TA H @ aFT
(D)ZHT 3T T &

= & 2 s w s £
2NaCl + Fp -

(A)2NaF + Cly

(B)2NaF + Cl

(C)NaF + ClI

(D)2Na + Cl,

Het Fit Sfrer Rrafr =4 21y 82

(A) 3 =TT Fit ST J5aT w9 & 7 g §
(B)F AT+t & FF g §

(C) farTe st & wahe wrery &

(D)3 o=t TE F qT g &

Page 9 of 32



70D

36.

37.

38.

39.

Birds have thin, hollow bones because it

(A) Helps to eat insects ;

(B) Makes it easier to fly

(C)Helps for walking

(D)Helps in singing

Balance the equation:

Fe + Cl; = FeCls

(A)Fe + 3Clz > 2FeCls

(B) Fe + 2Cl; - 2FeCls

(C)2Fe + 3Cl2 » 2FeCls

(D)2Fe + 2Cl; - 2FeCls

There is a bimetallic strip with two different

metals riveted together, one on top of the

other. The top metal has higher coefficient of

thermal expansion than the metal at the

bottom. When the strip is heated, what

happens?

(A) The strip’s temperature does not change

(B) The strip curves with the top metal at the
outer side of the curve

(C) The strip curves with the bottom metal at
the outer side of the curve

(D) The strip does not curve

Alkali turns

(A) blue litmus paper white

(B) blue litmus paper yellow

(C)blue litmus paper red

(D)red litmus paper blue

36.

37.

38.

39.

s & gfEat aaeh, @ras gt § =it
(A) 7 iz @1 & 7ag FdT §
(B) A€ AT SITHTH FATAT &
(C)a® oo+ & HaT FLdl §
(D)7g T # AEg FAT
FHTEHTIT HT AT FIT:

Fe + Cl> = FeCls

(A)Fe + 3Clp - 2FeCls
(B)Fe + 2Cl, - 2FeCl3
(C)2Fe + 3Cl> - 2FeCl3
(D)2Fe + 2Cl> » 2FeCls

e FEET gt & o & forr e v g F
T2 Fde & T v €1 S Arelt g # Ay
e ot = ATl ang & wifers &1 5= o
T AT ST € 9, 6 e 22

(A) TEY T ATIRIT AL Taeqar

(B) % F ATEAT Te1 F FUT ATeAT €] F
SIRR A R R

(C)Th F ATt Ter F A= vl e o ATy 0d T
et &

(D)t 2 T &t &

T T 94 2T 87

(A) Frer Forewe o< it g% &
(B) et ferewar =y fier &
(C)er forew® =i orer §
(D)&Te Forewa i fier §
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40.

41.

42.

43.

What is the balanced equation of the reaction
between hydrogen and oxygen?

(A)Hz + 02 = 2H,0

(B)2Hz + Oz = 2H,0

(C)2Hz + 203 = 2H,0

(D)2H2 + O2 = H,0

Match the following events with their
corresponding year of happening.

3} Minto-Morley Reforms 1) 1942
b) The Cripps Mission 2) 1909
¢) Provincial Autonomy 3) 1946
d) The Cabinet Mission Plan [4) 1935

(A)a-2, b-3, c-4, d-1

(B)a-4, b-2, ¢-3, d-1

(C)a-1, b-2, ¢-3, d-4

(D)a-2, b-1, c-4, d-3

Which state declared Blue Mormon as the
"State butterfly"?

(A) Uttar Pradesh

(B) Karnataka

(C)Maharashtra

(D) Tamil Nadu

The election in its present form, has roots to

which Act of British India which introduced the
direct election in British India?

(A) Government of India Act, 1919

(B) Government of India Act, 1912
(C)Government of India Act, 1915

(D) Government of India Act, 1935

40.

41.

42.

43.

BTESISI S0 ST % i wfafiar £ s
e i 4 82

(A)Hz2 + O2 = 2H,0
(B)2H2 + O = 2H,0
(C)2Hz + 20, = 2H,0
(D)2H2 + Oz = H,0

Frefortea gearet a1 e sar S Fad &
EniEy

a) Rigi-aie gue 1) 1942

b) fEm M 2) 1909

) Wi =T 3) 1946

d) #awe [ 9tem (4) 1935

(A)a-2, b-3, c-4, d-1
(B)a-4, b-2, c-3, d-1
(C)a-1, b-2, c-3, d-4
(D)a-2, b-1, c-4, d-3

e 7o & = wide Y <o Rl Few §
=it B 27

(A)I|T T2

(B)Fte®

(C)mzry

(D)aferTg

AT % HISET T g B ara w
o srfarfaae & & Rrew Rftrer sreg # weer

AT L Fr?

(A) e wr=Te stfefaem, 1919
(B) s g srfafae, 1912
(C) e wZa srfarfaaw, 1915
(D) s wTr afafaa, 1935
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44.

45.

46.

47.

In the Battle of Wandewash; troops of which of
the following kingdoms fought?

(A) British and French

(B) Maratha and Nizam

(C)Mughal and Maratha

(D) Sikh and British

The Union minister Mr. Ravi Shankar Prasad
has recently released a postal stamp on which
Maurya King?

(A) Ashok

(B) Bindusar

(C)Chandragupta Maurya

(D)Chanakya

A soldier attacked on a British sergeant, due
to which the First War of Indian Independence
broke out. Who is the soldier?

(A) Tatya Tope

(B) Rani Laxmi Bai

(C)Mangal Pandey

(D) Tipu Sultan

During the Quit India Movement, which

statement or call given by Gandhiji became a
national slogan?

(A)Now or Never
(B) Do or Die
(C)Direct Action
(

D) Not now but later

44,

45.

46.

47.

FiStaner 1 7=Te # e T i AT T2 ofr

(A) farfeer o S

(B) w3 @7 e

(C)Trer i< wrreT

(D) forw =i fafeer

e w0t oft < oo e | g & & e Wt
HqYTE 9T U ST fee ST & §2

(A) stemTh

(B) fagm®

(C) == wrd

(PEIEDE

e Tt § us fafeer aste aw gwer far ar
FSrerht arorg & sy st s=resraT O o gen
ol =g FRaTEt e 22

(A) TTeaT 2

(B) Tr=It et ars

(C)FTer U

(D) geam

HTCA STET ST o 1T et greT o
FITHT STEATH UF TET AT G 772

(A) =+t =m Foft 75
(B) &7 AT 7y
(C)#eft et

(D) sreft 7Y fohg e
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48.

49.

50.

51.

Dr. Malleshappa M. Kalburgi (77) was shot
dead by 2 gunmen at his residence in
Dharwad district of Karnataka on August 30,
2015. He was a researcher of which
Language?

(A)Kannada

(B) Malayalam

(C) Tamil

(D) Telugu

The Government of India Act, 1912 addressed
several problems related to which major
development in British India?

(A) Linguistic reorganisation of States

(B) The treaty of Oudh

(C)Annexation of states

(D) The reorganization of Bengal

Nepali language was included in the eighth
schedule of the Constitution of India by which
of the following Constitutional Amendment
Acts?

(A) 71t Constitutional Amendment Act

(B) 63 Constitutional Amendment Act

(C) 86t Constitutional Amendment Act

(D) 81t Constitutional Amendment Act

The Islamic New Year starts on which of the
following months?

(A) Ramadan

(B) Muharram

(C)Safar

(D) Rajab

48.

49.

50.

51.

FATER & TCATs foret & <F. Aresrerear M. et
(77) T I STaTH 9T 2 FHATRAT TR 30
YTEd, 2015 T geaT 7T &F 7€ off) 3 fay 9ror
IPERIR Y

(A) T

(GEERIEE

(C)ataet

(D)d=TT

T qCRR Afafam, 1912 % fafeer aa §
FITH Wi e & gt g g ar
Farfer 3T T o9

(A) FTITT ST 9T 5T G

(B) srarer it wfyr

(C)zrsat =1 faerg

(D) =TT T TeTeT

AT & Ffarem i swedt st & Javeft s
fRafafes & & fra @fgm e sffigy e
eTTfaer it 7E oft?

(A) 717 Sfaem Geiree st

(B) 637 &faerm weira srfarfary

(C) 867 wfaeT deirar srfarfay

(D) 817 dfaerm geirer srfarfaay
wﬁwma&ﬁaﬁfﬁaﬁ@rmmﬁm
T 82

(A) TS

(B)HTETH

(C)mwe

(D)==
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52.

53.

54.

55.

Which famous legendary sitar player and one
of India's most esteemed classical musicians
was associated with Beatles, an English rock
band?

(A) Zakir Hussain

(B) Ravi Shankar

(C)A R Rahman

(D) Pandit Debu Chaudhuri

Who among the foliowing is the Minister of
Culture, Govt. of India (Independent Charge)

in the current cabinet of Prime Minister Mr.
Narendra Modi?

(A)Dr. Sanjeev Kumar Balyan

(B) Shri Krishna Pal

(C)Dr. Mahesh Sharma

(D) Shri Sudarshan Bhagat TF

Which of the following festivals is devoted to
the victory of the revered warrior Goddess
Durga, over the evil buffalo demon
Mahishasura?

(A) Makar Sankranti

(B) Dussehra

(C)Diwali

(D) Guru Poornima

Who among the following is the most famous
tabla player from India in the world?

(A) Allah Rakha Rahman

(B) Sri Lalgudi Jayarama lyer

(C)Beghum Akhtar

(D) Zakir Hussain

52.

53.

54.

55.

FaffEa & & w9 & vfg Tt far aes
SR 9T % gad qeATg e Sefiaesray &

T, Eferer U 7, deew & et 32

(A) TR &
(B) T siwe

(C)A R @A™
(D)ufveq 3 =g

serrEAT oft Fem WA ¥ adur S § ety
A, W AT (T ww) et § &
FAE?

(A) =T Hsftar T aregTT

(B) =ft T qrer

(C)=t waer et

(D)=t HastT e

fRafafea & & 2= a1 e sgor 9 3 gt

BT TS & et S e Afgerge o7 e
st wwfda &2

(A) wFT Fita

(B) =erETr

(C)fRaTett

(D)= gftfar

FRATH AR F g Ay awer aEw
Fraforfer & & %17 82

(A) 3r=Te, THET TEHTT

(B) =t ATt SR s

(C)a T IT&qT

)
(D) g
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56.

57

58.

59.

‘Makar Sankranti’, an important festival in
Hindu religion falls in which of the following
months?

(A)March

(B) April

(C)June

(D)January

Which of the following dance forms is
performed during harvesting season in West
Bengal state of India?

(A) Pulikali

(B) Karakattham

(C)Dollu Kunitha

(D) Tusu Dance

Which of the following festivals in Arunachal
Pradesh involves the sacrifice of fowls, eggs
and animals to the Gods?

(A) Dree

(B) Solung

(C)Reh

(D)Losar

Which of the following musical instruments is
associated with Hindu Deity ‘Lord Krishna'?
(A) Pakhavaj

(B) Vina

(C)Sarangi

(D) Murali

56.

574

58.

594

‘W#%ﬁ’a‘rfii&rﬁ@ﬂ'ﬁ@ﬁw%
ﬁqﬁ%ﬂﬁ@rﬁ?ﬂmﬁm%’?

(A)aT

(B)

(C)

(D)s=aY
m%qﬁtﬁmmﬁmﬁm%ﬁ
W%Wﬁvﬁﬁﬁﬁ%mmwﬁm
ST 82

(A) TR

(B) FTHTEH

(C)Tr T

D)yFE T
Wﬁsrﬁﬁﬁﬁﬁﬁﬁ%ﬁa%aﬁ@?ﬁ
%aaﬁﬁﬁwfaﬁ,dﬁaﬂtmaﬁmaﬁm
T ST 772

(AF

(B) &

(ks

(D)=

e & § A= a1 q 4T, g gaar
T T & we e 37

(A TETast

(B)=rom

(CyaTatt

(D)Feett
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60.

61.

62.

63.

Which of the following organizations annually

organize “Bharat Rang Mahotsav (BRM)"?

(A) National School of Drama

(B) Ramakrishna Mission Institute of Culture,
Kolkata

(C)National Gallery of Modern Art

(D) Sangeet Natak Academy

Which article of the constitution abolishes the

practice of untouchability?

(A) Article 17

(B) Article 14

(C)Article 15

(D)Article 16

What is the term given to the action by the

President in which he is not taking any action

for an indefinite time on any bill or act?

(A) Veto description

(B) Veto indefinite

(C)Pocket veto

(D) Veto judgment

What empowers India to either acquire a

foreign territory or cede a part of its territory in

favour of a foreign state?

(A) Sovereignty

(B) Secularism

(C)Socialism

(D)Democracy

60.

61.

62.

63.

Fafafed & & #i9 a1 @ afts =7 & g
T wEIdd (BRM)” T AT AT 272

(A) AT T AT STHT

(B) TrwaTr frer Effe=ye At Foww, drershrar
(C)Ae=« Ferdy aftws wi e
(D) ST ATEH rFTEAT

HETA HT FIT AT SAToRE TEqIFAT T 99T FY
THTH FTaT 87

(A== 17

(B) == 14

(C)sr == 15

(D) === 16

Trgafa BT Ut FTEATE FTA T T FaT AT 2
it 7 et off farer o e o= srfafraereia
97 % forg < wréars wdt w7y 87

(A) ey FRfemem

(B) ey Sefhme

(C)utfere Ffier

(D)#2T STt

e Feft & srfiegia < ¥ foro an s ARk
TST % & F ST & 7 0 TR Ao ¥
T T 4T 91F<h =T FaT 22

(A) srge=T

(B) erifairerar

(OEEIECIE

(D)srre=
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64.

65.

66.

67.

¥

Who became the first judge in India to be

impeached by the Rajya Sabha for

misappropriation of funds?

(A) Soumitra Sen

(B) Suchitra sen

(C)Sumit Sen

(D)Shaurya Sen

What is the law term given to injuring, beating
or unlawful imprisonment to make a person do

something that he does not want to do?

(A) Duress

(B) Compulsion

(C)Magna karta

(D) Detention

What is the term given to the bill which is
introduced by any member of Parliament other
than a minister?

(A) Private bill

(B) Individual bill

(C) Objection bill

(D) MP bill

In which case against Union of India, the
Supreme Court of India held "A state which
does not recognise any religion as the state
religion, it treats all religions equally"?
(A)S. R. Bommai

(B) Keshavanand

(C)LIC

(D)Madhav Jiwaji Rao Scindia

64.

65.

66.

67.

AT H 98 FI9 F uger =manefier F R 97 g v
T TART FA F o wrsrEwr g werfEn

FATT AT AT?
(A) =T &
(B) &= &=
(C) T &
(DEIREE

T SRR T e TgE #Y, N 5 91 -wrh
& H FETH H ST HCFg F4 F o7 e
FIAT ST g FTAT TG ATLAT &, FT FAT 1247 FTA
TeT T 72

(A)y=I=

(B) FIerereT

(C)#uT et

(D)fer

T WAL srerrar wwe % ey oft sy e gy
Fer 3 T Frderes it #a T T 22

(A) Foft s
(B) =T fdas
(OEIEREERED
(D)MP fardrr=

Wﬁa%ﬁwgmwfi,w%m
TATATAT F T HTHT “UoF TS ST T 9 3 =7 &
%ﬁﬁaﬁﬁaﬁm,a‘gmﬁaﬁﬁm
FFETT FTAT "2

(A)S. R. Tr=7%

(B) Ferame

(C)LIc

(D)#\TE= Sfrarsft e fifeaT
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68.

69.

What amendment was made by the Fiftieth

amendment of the Indian constitution?

(A) Technical Amendment to curtailment of
fundamental rights with respect to security
personnel, protecting property and
communication infrastructure

(B) Extend reservation for SC / ST and
nomination of Anglo Indian members in
parliament and state assemblies up to
1990

(C)Place land reform acts and amendments to
these acts under Schedule 9 of the
constitution

(D)Amendment to negate judicial
pronouncements on scope and applicability
on sales tax

Who appoints Governors and Lieutenant-

governors for a term of 5 years?

(A) The President

(B) The Prime Minister

(C)The Vice President

(D) Parliament

68. WA Tfem ¥ w=mas geve g1y B A

9 " T T 9

(A) T F7f, TafRy it <o s g9
HAHTHAT F HTH F Hiforw arfrawrd £ w2
A F forg et derer

(B) FTH= STf/sr e st 3 forg seeqor

F1 Faeam 3T 1990 7% Hwg 3w T
FremaTet § v Sfa qeet F T

(C)F e £t gt 9 ¥ qed wf gure
sferfaw st oo srfafRam ¥ e #v waar

(D) forft F2 9= =R Si e a7 =
STOOTTSHT T TR 3 R weire

. TEAR S Aftede wae 7y 5 7 f sty F

fore = frgfRe #ear 2
(A) Trgafy

(B) werm= =T

(C)3w Trgafa

(D)gw=
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72:

x

Which Fundamental duty has been added to

the Indian Constitution by 86t Amendment of

the constitution in 20027

(A) To value and preserve the rich heritage of
our composite culture

(B) To protect and improve the natural
environment

(C)To develop the scientific temper,
humanism and the spirit of inquiry and
reforms

(D)A parent or guardian should provide
opportunities for education to his child
between the age of six and fourteen years

The President can declare three types of

emergencies. Which of the following articles is

NOT related to it?

(A) Article 352

(B) Article 356

(C)Article 123

(D)Article 360

What was the objective of first amendment of

the Indian constitution?

(A) To fully secure the constitutional validity of
zamindari abolition laws

(B) Removing the upper population limit for a
parliamentary constituency

(C)Restrictions on property rights and
inclusion of related bills

(D) Re-enact entry 33 of the concurrent list in
the seventh schedule with relation to

inclusion of trade and commerce

70. #f%m%:asi@ﬁa:rmwﬂﬁv#ﬁ&mﬁaﬁ?

73

52

T HIfor FideT 2002 & =T 9T T2

(A EETE TR wepfa £ ag e #r e
FEAT AT IHHT G FTAT

(B) STt rarfaor Y vaT iz 3% Aga T

(C)&=TTiRF forrTt, Wrerararaa o< St siw qare
T AT w7 A

(D) AT @ 31 sif¥reras # a9 g7 F g 9
Ay F i F 77 Fr ew F srwww @
FLET AT

Trgafa Ty i srar Rl i S w7
mguﬁﬁﬁmmwmwm@

(A) srg=a2 352
(B) srT== 356
(C)srT=a= 123
(D)= == 360

W%#&m%ﬁ%mﬁaﬁmaﬁwwm?

(A) STHTETE I Tt it e derar 7
T T & iR war

(B) TF HHLHT AATAT-T07 3 R st £y

=T T gamT

(C) U ¥ sferTe o= wiey s Hafag
et v enfirer Rear st

(D) ST 3 F1forsT it omvfdrer # ¥ ey &
AT ST § Tt gt i avier 33 7
o & srfefRafig s
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73.

74.

75.

In which case Supreme Court held that the
preamble is not an integral part of the Indian
constitution and therefore it is not enforceable
in a court of law?

(A) Berubari case

(B) Brij Mohan case

(C)K. M. Nanavati Case

(D)Ram Bahadur Case

Preamble is based on which of the following
proceedings that was drafted and moved in
the constituent assembly?

(A) Index

(B) Laws

(C) Objectives Resolution

(D) Inferences

What was the significance about the date 28t

March 1989 and 61st Amendment?

(A) Article 356 amended to permit President's
rule up to three years in the state of Punjab

(B) Age for voting was reduced from 21 to 18
years

(C)Provides Right to Education until the age of
fourteen and early childhood care until the
age of six

(D) Exempt Arunachal Pradesh from
reservation for Scheduled Castes in

Panchayati Raj institutions

73.

74.

75.

= F g Arer § Igaw =ArATed ¥ 7 A/
TEITEAT AT G T Tk AA9T5T 307 A&
2 ST 30 YR Tg AT § yad e T a8

TETEAT 390 F e sre 97 s & R
FfereTe T & Heter SAr T T o # e
[ERIE DY

(A)TTHTF

(B)

(C) =97 Heheq

(D) Feesef

Tt W=t 28, 1989 < 617 Hefrar ¥ ATy #

HEed T Aq77?

(A) TSI TT H i T 9% qgata orae i
aafe ¥ o srqeae 356  weiver it v

(B) =T & forg 39 21 & wrer %% 18 |Ter Y TE

(C) Fore =1 stftrme <feg wet it 9w a A mE
AT Y I T T Y TEHTT FT I
FAT S

(D)t TSt et g o 3
STV & SRS TR T Hh HCAT
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76.

77.

78.

79.

Which bill CANNOT be returned by the
governor for reconsideration of the state
legislature?

(A) Ordinary bill

(B) Money bill

(C)Amending bill

(D) Private bill

Election for the members of the Rajya Sabha

is carried out using which of the following
means?

(A) Universal adult franchise

(B) Single transferable vote system

(C) Nomination by Prime Minister
(D)Single non-transferable vote system
Who among the following can suspend the
right to move any court for the enforcement of
Fundamental rights during emergency?
(A) The Prime Minister

(B) The Chief Justice of India

(C)The President

(D) The Chief Election Commissioner

Who became the first ever Governor to be
questioned by CBI?

(A) Bharat Vir Wanchoo

(B) Sheila Kaul

(C)M. K. Narayanan

(D) Sheela Dixit

76.

i

78.

79.

o7 fReTEEe F iR F R o #e
a7 8w 7Y witer g §2

(A) e frda
(B) & s
(C)H9irer fadrrs
(IEEIRECRED

TISTHAT & Haeq! i1 977 o & & B

(A) T T TarteE

(B) U siafiar | gorTett

(C) e W= gy AT

(D) T AT-3qTofiT | orTett

Fafrfm & & s ¥ 2o wifees st

% s % forg freft ot = sy ¥ wfww
FT FT T T $2

(A) e T=fy

(B) 91T % q&T =qramefver

(C)Trgufy

(D) T=T AT ST
aﬁwﬁagﬁmnm%ﬁaﬁcslﬁm
£ off?

(A) 57T i =i

(B) <ft=tT FYer

(C)M. K. T

(D) sfr=r Siferg
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80.

81.

82.

3 A‘.,E.

The Indian Parliament is composed of three

parts. First being President, what are'the other

two?

(A) Prime Minister, Leader of opposition

(B) Chief Justice, Governor

(C)Member of parliament, Justice of high
courts

(D)Rajya Sabha, Lok Sabha

In which trial case did Mahatma Gandhi say —

“I should have known the consequences of

every one of my acts. | know them. | knew that

I was playing with fire. | ran the risk and if |

was set free, | would still do the same.”?

(A) In the Great Trial of 1922

(B) In trial of Chauri Chaura case

(C)In trial of Civil Disobedience case

(D)In trial of Champaran case

What according to Gandhiji will only end up

making the whole world blind?

(A)An ear for an ear

(B) Punishment to every one

(C)An eye for an eye

(D) British iaw

- What is the best way to find oneself, according

to Gandhiji?

(A) To create awareness

(B) To lose yourself in the service of others
(C) To experience the poverty

(D) To win over the enemy

80.

81.

82.

83.

AT #5731 e agafy § &
R ST 7 872

(A) werr=ft, witaer & Jar

(B) e =rramefyer, Trsaarer

(C)¥H= % waww, Ig =TT F =i
(D) TTSTGT, SrHTHT

F3er grarer Sy 3 wrgren wrieft vy oA - ‘R oy
FAT & w3 F qor F arx # qar S AR
AT F ITF T A K A E A
T TET o FY e o v afy & qe R
T AT A, F q oft 98 Fam?

(A) 1922 F Iz zraer &

(B) T =T Awer ¥ gt §
(C)afam=r s wrwer ¥ zraer &

(D) SF9T=oT JTH & araer §

et 3 srqaTe A sid: T g i ster AT
e

(A) T 7 & forg gawT

(B) = ¥ forg zve

(C)u= site ¥ forg gardt site

(D) farfeer &1t

TiEfTSft ¥ ST, T A @ w7 g s
TEHT FT 82

(A) STTShaT daT Fe%

(B) ZETH it FaT & T4 Y gav AW
(C)Refar &7 s F7%

(D) e 9% fasr7 wrae
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84. According to Gandhiji, what is Swaraj? 84. iefisht ¥ srqae TS =T g2
(A)When we learn to rule our neighbours (A)%W TH I TR 9% e FEAT Hg T

B) When we learn to rule our s stem !
e . (B)WgMWW&WWPﬁ@m%

(C)¥a &w &= I STEA FAT i o &
(D)Wgwsrq%gzaﬁqrmwm@ﬁamﬁ%
85. The statement “l see God in every thread that ~ 85. ag %o “& 3 sy vy & LT FT 79 FaT

(C)When we learn to rule ourselves

(D)When we learn to rule our masters

I draw on the spinning wheel” is given by ST # 5 & Fraar g, e #mro
(A) Jawaharlal Nehru (A) STTRTaTe TEw

(B) Subhash Chandra Bose (B) g1 =% Iy

(C)M. K. Gandhi (C)M. K. risft

(D) Motilal Nehru (D) Frefterrer g

86.  In which speech Gandhiji said - “The charge  86. e o F wisfih FET AT - ‘TR foreg sy
against us is that we have no initiative. How RAURUNEIESE i -C ok oy IR TEI A ) 27%3‘7
can we have any, if we are to devote the m&wﬁi_g; ?r%;z ;:_r;r ﬁﬁé
precious years of our life to the mastery of a TR 7
foreign tongue™?

(A) Quit India Speech (A) T ST

(B) Dandi March Speech (B) =<t 71T syrepor

(C)Banaras Hindu University Speech (C)TTH %{ﬁ’iﬁﬂm —
(D)Round Table Conference Speech (D) ¥t 2 L p—

87. Other than the famous Chauri Chaura incident  87. WRE T sy it ey F ETET ST A =y kil
that took place in Chauri Chaura, the place is BT A, R ST oy 3 & ey 3 v i &2
famous for its
(A)Dal and Gud Mandi (Pulses and Jaggery (A) T 7 T2 7t

market) (B) wrsft wvdy
(B) Sabzi Mandi (Vegetable market) (C) 7=t wust
(C)Machhii Mandi (Fish market) (D)% T %ot Hoy
(D)Fal and Phul Mandi (Fruit and Flower

market)
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88.

89.

90.

91.

92.

In his most famous quotes, Gandhiji

suggested we should

(A) Hate the sin and not the sinner

(B) Hate the sinner and not the sin

(C)Hate the British and not the Portuguese

(D)Hate the Foreigner and not the Indians

What are the two pillars of “Gandhism”?

(A) Demonstration and Protest

(B) Truth and Non-viclence

(C)Talks and Seminars

(D) Violence and Diplomacy

The term given by Gandhiji which means

‘universal uplift' or 'progess of all' is

(A) Sarvodaya

(B) Antyodaya

(C)Saralikaran

(D) Shasaktikaran

Which of the following is NOT a book related

to Gandhiji?

(A) Trusteeship

(B) Prayer

(C) The Voice of Truth

(D) Witness

One of the major achievements of Mahatma

Gandhi in 1918 was two agitations against the

British landlords. Where did they happen?

(A) Champaran and Kheda

(B) Dandi and Puri

(C)Calcutta and Bombay (Now Kolkata and
Mumbai)

(D)Agra and Meerut

88.

89.

90.

91.

92.

wﬁmwﬁamﬁmﬁﬁﬁ,a‘gw%m
g

(A)IT & 0T FTAT AR i I & 7
(B)W%www@qﬁrmﬁaﬁ
(C)ﬁﬁsrﬁwmm@qsﬁ'{g‘cﬁnﬁ@rwﬁ
(D)weaeft & o AT =R sive sl &

“TietaTe” ¥ 2 e Fi & #2

(A) w=ei sire fadrer

(B)#re st arfgar

(C)araf i Mt

(D) e sz we+fifa

wieftsft gy Rraffa B aar ae= R g
TTAAHT St ar asft Y yorfay g TEFTE?
(A)FateT

(B) sicdre

(C)aw=frzor

(D)werfparor

T FTET T e & w6t TE 82

(A) T=ifar

(B)¥aT

Czatmatmga

(D)fareg
1918ﬁ‘mmﬁﬁaﬁm%aﬁﬁ@r@
Srertey ffeer sftarst ¥ farems 2t aidter o 3
gl gU A2

(A) =¥ ST dET

(GEEIE
(C)WWM(MWWW)
(D) 3Ty 3T wfiz=
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93.

94.

95.

96.

After which incident, it's widely believed that
Gandhiji launched all-out Non Co-operation
movement?

(A) Battle of Plassey

(B) Indigoe Revolution

(C)Bengal Famine

(D) Jallianwala Bagh Massacre

A social boycott of which two categories of
revenue officials within the district made the
kheda non co-operation movement a
success?

(A) Mamlatdars and Talatdars

(B) Ameen and Tehsildar

(C)SDM and ADM

(D)Nayab tehsildar and Revenue officer
What are the starting and the end points of the
“Dandi March” respectively launched by
Gandhiji?

(A) Dandi and Surat

(B) Surat and Gandhinagar

(C)Ahmedabad and Dandi

(D)Jamnagar and Surat

Who dismissed Hind Swaraj of Gandhiji as
“completely unreal”?

(A)M. A. Jinnah

(B) Jawahar Lal Nehru

(C)Subhas Chandra Bose

(D)Sardar Vallabh Bhai Patel

93.

94.

95.

96.

19 Tt T F 9GTE, SATTH € F T AT AT 2
o6 et F qOf ©7 § S@ed siidia 4% F¢ &ar
qT?

(A) Tt i =TE

(B) =t wifar

(C) T =T STl

(D)siferartaTe T AERTT

e % sia Trore srferaria Y 6 < afor &

TIAT afeshTE ¥ =T S AEIET i T
FATAT AT?

(A) ATHATET 3T aAdETT

(B) st siiT ageiere ™

(C)SDM 3= ADM

(D)ATTs TEETEIT AT TroTeT AfReRTT

T ST THTE T FE 97

(A) =TT o Tza

(B) TXa i< riefteme
(OEFLEEIEE RS s

(D) SITH 3T g2

“quid: STATEITAE” o Y e TS % Fe
TS T @IS H2 3T or?
(AYM. A. s

(B) STATEX AT AEw

(C)gwT == A

(D) HTER oA ATE qeoT
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97.

98.

99;

In his Last Will and Testament, Gandhiji
suggested the disbanding of the congress
organisation as a political forum. What name
did he give to it and its succeeding
constructive work organisation?

(A) Lok Satta Sangh

(B) Lok Sevak Sangh

(C)Lok Swabhiman Sangh

(D) Lok Swaraj Sangh

In his speech on the eve of the last fast,
Gandhiji called fast as a

(A) Last weapon

(B) Final call

(C)Process of self-purification

(D) Process of self-realisation

The worldwide protest against the status of
caliph by muslims was initiated in which of the
following movements?

(A) Shariyat Movement
(B) Hijab Movement
(C)Khilafat Movement

(D) Muslim Brotherhood Movement

100. In how many volumes the book "In Search of

the Supreme" was published, that was written
by M.K Gandhi?

(A)4

(B)5

(©)3

(D)2

7.

98.

99.

100.

et ST T X A ards ¥ v
TSNS F F & H F09 ST F7 G FIT F7
AT 33T oM IR T AT The ST
THAATCHS FT4 TS T AT 717 23T °47?

(A) S T

(B) AT T

(C) =T =TT w9
(D) T w

St IaTe €Y qF Hear o7 s o § e
 3ITATH FT F T AT A7

(A) sifw g

(B) sifae gerrar

(C) srem-<1fe it whtwar

(D) srew-arer ¥ iz

THEATAT ZTT 20 STy arer =ehver & a5t &
e fraerdt By fe ¥ & #9 § sigeg &

ST T3 2T a7

(A) TR stigTer

(B) fostTer siigrerT

(C) =Ty stidrerT
(D)AfRaw W= wHE

M. K. wrieft grer foredt 5% o &+ ot = e 7
TET TR @Uet § yeRTfar iy e

(A)4
(B)5
()3
(D)2
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101.

Which of the following is an operating system?
(A) Microsoft Excel

(B) Microsoft Windows XP

(C)Adobe Reader

(D)Microsoft Word

102. Which one of the following is a field that allows

you to send a copy of the message to another
e-mail address?

{A) From

(B)To

(C)cC

(D)Subject Line

103. Which of the following is a Google Web

104.

105.

Browser?

(A) Chrome

(B) Internet Explorer

(C)Netscape

(D) Firefox

Which is an office suite of desktop
applications, servers and services for
Microsoft's Windows and Apple's OS X
operating systems?

(A) Google App Engine

(B) Adobe Reader

(C)Microsoft Office

(D)PageMaker

An e-mail consists of

(A) Only text

(B) Only files

(C)Only image

(D) Text, images, files, or other attachments

101, Frerfortre 3 & 1 T AR e 82

(A)HTERE R TR

(B) wThatTE fAwetet XP
(C)zrEta =T
(D)uTEHETTE 7€
Eraffg i & 75 #i7 o Fiee § S AT A6
ﬁ@ﬁﬁwﬁ-ﬁﬁﬁwﬁaﬁaﬁmﬁﬁ _
2?
(A)y=H

Bz

(C)CC
(D)TssFe FATEA

e

103. T A FT AT TH TA A9 ATIAL 82

(A)YF

(B) Ezie UFTTRE
(C)F==FT

y

(D) FITHIFH

104.nﬁﬁ”ﬂi‘q€aﬁﬁ=€maﬂ'{m%osxﬁﬁﬁw

foreren ¥ POy SeetT wfterneres, S ST AaTe
7 SR g T § A Av 82

(A) T T £

(B) srETer T2

(C) W= A e

(D)ASTHTHT

105 &-drer 3 e P AT 37

(A)FaT TR

(B) Fa wrged

(C)Fae =8

(D) ¥z, Hreed, THIW dT 97 Ao
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106. What does HTTP mean for Internet?

(A) High Text Transmission Protocol
(B) Higher Text Transmission Program
(C)Highly Technical Transfer Program
(D)Hyper Text Transfer Protocol

107. Which is a popular software used primarily for

creating documents such as letters,
brochures, learning activities, tests, quizzes
and students' homework assignments?

(A) MS Word

(B)MS Access

(C)Paint

(D) Calculator

108. What is loT for IT industry?

(A) Interest of Technology
(B) Internationalization of Technology
(C)ldea of Transformation

(D) Internet of Things

109. Which of the following is a free open source

0Ss?

(A) Windows 10

(B)iOS

(C)Linux

(D)Windows Server 2012

110. Which device provides a way for a computer

to output data for communication with users or
other computers?

(A) Memory devices
(B) Output devices
(C) Input devices

(D) Processing devices

106. e F "5 § HTTP 7 3tf =T 8?2
(A) BTE Tz Siafiee Terhia
(B) BTUX T TrEier TRITH
(C)Teelt THTeher ZTEhT STITH
(D) BTETR T ZIEHL TSI
107. &I & U AHNT TiFead< g S =g,
FerarcforenT, foreror srfafafama, oer, o siw
AT F IS FETEHE S STHRIHE T a4
e qer w1 & TeHTe T St 82
(A)MS £
(B)MS TFH
(C)¥=
(D) FeFgeiat
IT =T & 10T =T 31 47 grar 27
(A) 372 ST SFHATAST
(B) ZeAAMeITE ST AW Tehetorsit
(C)3m=f=aT it SR
(D) 3= stw v
109. sfir sira= #ref OS FRwforfea § &+t ar2?

108.

(A) =T 10
(B)iOS
(C)=re=rr
(D) fa=esT @4% 2012
110. e fRares, Fogee 1 SwAmFarst a1 3=

T F T TFIH G717 + (o7 2T JeaTas
T FT AR T HLAT 22

(A) FwE fRamew
(B) sm=eqe fRarew
(C)zqe Rarzw
(D)t fET fearew
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111. What is CC in terms of e-mail?
(A) Create Copy
(B) Carbon Copy
(C)Copy Content
(D) Copyright Copy
112. Dot Matrix Printer is a/an
(A) Memory device
(B) Processing device
(C)Input device
(D) Output device
113. Which of the following is FALSE about word
processing software?
(A) Word processing software can Create, edit,
save and print documents
(B) Word Processing software can format text,
such as font type, bolding, underlining or
italicizing
(C)Word Processing software cannot correct
spelling and grammar
(D) Word Processing software can insert
elements from other software, such as
illustrations or photographs
114. What is BYOD for IT?
(A) Buy Your OId Device
(B) Best Your Opportunity Development
(C)Bring Your Own Device
(D)Buy Your Ordered Device
115. Which of the following extensions s used for
MS Excel 20077
(A) .docx
(B) .accdb
(C) .pptx

111.%-%%#3#&00@7%?
(A) Fobrz iy
(B) e+ wify
(kakikrry
(D)F s Fidy
112. 312 Afeaw ffer v
(A)#eTE Rareg &
(B) T Rearewr
(C)zTqz Rarzw &
(D)srseye fearew &
113_ﬁmm%aﬁﬁﬁﬁaﬁwmmw
T 82

(A)aéwf%ﬁvﬁwemﬁzﬁ%@,wﬁa
@aaﬁtﬁﬁwmé
(B)ﬁmﬁwmﬁ#ﬁzwm%
éﬁ%mmw,%,mwﬁ‘ 77
2o & ey
(C)aé'sr“r@r&mﬁ%éwarmﬁwaﬁr TR
FT I TE 7 T
(D)ﬁﬁﬁwﬁwmmﬁm
WRW%%%WQWQTW

114, |TfrBY0Dmarafwgﬁm§?
(A)TE T 1 Reamewy
(B) %= T sifr=affardy e
(C)FIT a7 i Rearewy
(D)aTE T3 3itE$ fRaresy

115. Mswzoomﬁqsﬁ%aﬁ?mmﬁsm
AT T ST 82
(A) .docx
(B) .accdb
(C) .pptx

(D) .xlsx (D) .xIsx
_
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116. Which operating system is designed by
Apple?
(A) Windows 7
(B)Mac OS
(C)Linux
(D) Android

117. Scanner is a/an
(A) Memory device
(B) Processing device
(C) Input device
(D) Output device

118. Which operating system allows multiple users

to use the same computer at the same time
and different times?

(A) Multi-user

(B) Multiprocessing

(C)Real time

(D) Multitasking

119. Which of the following statements is FALSE?

(A) An input device sends information to a
computer system for processing

(B) An output device reproduces or displays the
results after processing the data

(C) An input device reproduces or displays the
results after processing the data

(D) Depending on the interaction, a device can
work both as input and output device,
referred to as I/0 device

116, T 1T F1 A7 AT Fyeew e far
?
AR 7
(B)#% 0OS
(C)wmzeF
(D)ugtze

117. AT TH
(A) 7T Rarzar &
(B) & fRT Rarew 2
(C)zTqe Rarzw &
(D)sr3eye fRarzw &

118. %1 & st freew, Rl sonrratsi #r o
B FET T U E qu i Rl qeat g @
FA A Al FaT 82
(A) Ffez-g3e
(B) wrfeasiarfar
(C) et zr=w
(D)wfeaarfEsmr

9. FRaforfa & & ¥ a1 e o 22

(A)TF T Rarew w&fiw ¥ frg dopee Reew
# AT T &

(B) TF ASYE fRarzs T2t T1&fRT ¥ a7 qfomy
F1 fsiregw a1 w=fifa szar &

(C)TF ST fRamew a1 W& R ¥ arz aftomy
F1 friregw a1 wafifa Fear &

(D) SFT:130aT 3 s o2 w R e s
seqe Rared 241 ¥ wrf &% aFar 2, o
/O fRarew T STt &
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120. Which of the following services is/are allowed 120, TH & Fi &t Farait 7t U Hrforer Fzafi RIET

| 3
.

in a social networking site?

. €reate a public profile

II. Create a list of users to share connections
Ill. View and traverse the connections within
the systéhn =~ *

(A)l only

(B) Il only

(C) 1Nl only

(D)1, lland 111

Space for Rough Work:

H srquta & 7 /2

. Ta gfeere SreTse aamT

I1. F9 AT FT ¥ Forg SwrrAtadt £ qeft awmr
1. Rz % i st it T i dae s

I &

(A)Fa= |
(B)Fa= ||
(C)Fa= Il

O, s
t
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Please read the following instructions carefully:
1. Write your Roll Number, Question Booklet Number

-, and Quest_ic;n Bo'ok.l'e't- Series on the OMR Answer Sheet

carefully #hd siSn at fée appropriate place. Please note
that in absence of the correct Roll number, Question

.Booklet Number and Question Booklet Series and

éigna_ture on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer/!_Room Invigilator and
instructions given on the Question Booklet.

3. Candidates are not allowed to !‘arry any papers,
notes, books, calculators, cellular phones, earphones,
scanning devices, pagers etc. to the Examination Hall.
Any candidate found using, or in possession of such
unauthorized material or involved in copying or
impersonation or adopting unfair means or behaviors will
be disqualified and may be subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 120 questions and the total
time allotted is 120 minutes. All questions are
compulsory and carry 3 marks each. Every correct
answer will get 3 marks and 1 ma{k will be deducted for
each wrong answer. \

b ]
5. The candidates must check that the Question Booklet
has 120 questions with multipl_e choice answers. If any
discrepancy is found, immediately report to the

Invigilator, so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is correct. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

Instructions / fHger .

7. Completely darken the CIRCLE so that the alphapet
inside the CIRCLE is niot visible. Darken only ¢ne circl'e--
for each answer. The CORRECT and the 'WRONG |
method of darkening the Q!RCI:E'»Qn the OMR answer
sheet are given in the example below:

Wrong Method

ceoe

0Q00
0®00
00®0

8. Use black ink ball point pen for filling the boxes and

darkening the circle on OMR Answer Sheet. Do not use
i d

Correct Method

0000

pencil.

9. In view of the limited times span, do not waste"your '-,1
time on a question which you find to be difficiht. Go.on
solving questions one by one and come back to difficult
questions at the end. It is only an advice,

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are
allowed to carry their Question Booklet from the
examination hall after the examination.

13. Questions are in Hindi and English. If any ‘
discrepancy in either of the versions of question is N :
present, then that question will be cancelled. |
14. Candidates are provided with carbonless OMR.... « . /
answer sheet. They must submit the original copy to the
invigilator and take away the carbon copy with them. \
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